Fquazioni intere

Periodo 1 - UdA 7-8

Risolvere le seguenti equazioni

o N o Ot W o =

— (32?2 +z) (=22 4+ 4) + 192 — 62* (z — 4) = —22* + (4= + 3) (4 + 3)
—xd — (427 — 1) (4a* — 1) = (—z + 3) (2? — 22) — 2? (162? — 3) — 1
Ozt — (222 — 1) (—4x 4+ 3) = —42? (—2z + 3) — 6+ (327 + 1) (3z* + 1)
— (42® + 3z) (42® + 3x) — 3z = 32” + (—4z + 2) 3z + 3) — 82° (2 + 3)
—2? = (Br+2)(=3x+1) = (227 + 1) (—22* + 1) — 42? (2> — 3) +3
— (22 — x) (227 — ) +52® = —4a® (x — 4) + 10 + (—3z + 1) (4a? + 5)
—Br+1)Bx+1)—6=02x—3)(—2x+4) —5x(x+4)+5

2? — (2 —2) (=Bx 4+ 2) = =2z 4 (—4da + 1) (—4da + 1) — 62° (—x + 3)



SOLUZIONI
Periodo 1 - UdA 7-8

Equazioni mntere
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